Number Series Workbook V-1

Direction (1-5) : What value should come in place of 3.28
guestion mark (?) in the following number series? 4.31
5.24
1.22,42,64,88,?
1.112 6.19, 27,0, 64,?,155
2.118 1.61
3.116 2.83
4.114 3.-23
5.115 4. 47
5. Other than the given options
2.11, 61, 299, 1189, ?
1. 3559 7.122,62,32,7?,9.5,5.75
2. 3659 1.19
3. 3569 2.24
4. 3549 3.17
5. 3459 4.20.25
5. Other than the given options
3.215, 19, 163, 63, ?
1.117 8.49, 216,625, 1024 ,729,?
2.127 1.128
3.125 2.512
4.126 3. 256
5.109 4.324
5. Other than the given options
4. 160, 80, 120, 300, ?
1. 1050 9.71,7, 868, 4345, 26076
2.1000 1.322
3.1040 2. 264
4.1020 3.198
5. 1060 4.216
5. Other than the given options
5.4,5,8,15,?
1.25 10.1,12,144,1728,7
2.26 1.18024
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2. 9962

3.20736

4.21302

5. Other than the given options

Directions (11-15): What should come in place of the

guestion mark (?) in the following number series?

11.8, 45, 55, 13, 56,7
a) 566
b) 496
c) 596
d) 450
e) 456

12.19,16,44,107, ?
a) 108
b) 156
c) 215
d) 151
e) 251

13.11, 14, 23,50, ?
a) 111
b) 121
¢) 151
d) 131
e) 141

14.19, 25, 42 ,71,113, ?
a) 169
b) 153
c) 186
d) 196

e) 269

15.21, 35,30,44,39,?
a) 59
b) 53
c) 55
d) 45
e) 46

Directions (16-20): What should come in place of the

question mark (?) in the following number series?

16.7,14,30,56,93, ?
a) 142

b) 403

c) 124

d) 96

e) 124

17.23, 39, 32, 48,41,7?
a) 58
b) 57
c) 59
d) 48
e) 84

18.11,13,20,48, 111, ?
a) 237
b) 125
c) 273
d) 255
e) 555

19.13,17, 33, 97, ?, 1377
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a) 259
b) 563
c) 535
d) 455
e) 353

20.6,35,45,11,48,?
a) 96

b) 56

c) 392

d) 192

e) 292

Directions (21-25): What should come in place of the

guestion mark (?) in the following number series?

21.6, 16, 45,184,917, ?
a) 5056
b) 5506
¢) 5006
d) 5060
e) 6050

22.11,20,38,74, ?
a) 85

b) 96

c) 100

d) 136

e) 146

23.15,21, 38, 65,101, ?
a) 150
b) 120
c) 125

d) 145
e) 154

24.24,28,19, 35,10,7
a) 45
b) 44
c) 46
d) 42
e) 47

25.14,6,4,4, 8,7
a) 32
b) 8
c)4
d) 16
e) 14

Directions (26-30): What should come in place of the

question mark (?) in the following number series?

26. 14, 25, 47, 91, 2, 355
a) 100
b) 197
c) 179
d) 335
e) 155

27.11, 24,44, 70,101, ?
a) 136

b) 102

c) 80

d) 102

e) 163
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28.18,8,6,8,24,?
a)6

b) 48

c) 24

d) 176

e) 167

29.28,32,23,39,14,?
a) 30

b) 50

c) 55

d) 6

e) 14

30. 5, 12, 33, 136, 675, ?
a) 5569
b) 4426
¢) 5046
d) 4065
e) 4056

Directions (31 - 33): Complete the following series.

31.2, 4, 12, 4, 240, ?
a) 960

b) 1440

c) 1080

d) 1920

e) None of these

32.2,5,9,19,37,?
a) 76
b) 74
c) 75
d) 73

e) None of these

33.4,-8,16,-32,64,?
a) 128

b) -128

c) 192

d) -192

e) None of these

Directions (34 -3 5): Find the wrong term in the

following given series.

34.2,9, 28, 65, 126, 216, 344
a) 2

b) 28

c) 65

d) 126

e) 216

35. 10, 26, 74, 218, 654, 1946, 5834
a) 26

b) 74

c) 218

d) 654

e) 1946

Directions (36-40): What will come in place of

question mark (?) in the following number series?

36. 59.76, 58.66, 56.46, 52.06, ?, 25.66
a) 48.08
b) 46.53
c) 43.46
d) 43.26

www.BankExamsToday.Com

Page 4



Number Series Workbook V-1

e) None of these

37. 36, 157, 301, 470, ?, 891
a) 646

b) 695

c) 639

d) 669

e) None of these

38. 14, 70, 350, ?, 8750, 43750
a) 1570
b) 875
¢) 1750
d) 785

e) None of these

39. 13, 13, 65, 585, 7605, 129285,?
a) 2456415
b) 2235675
C) 2980565
d) 2714985
e) 2197845

40. 1, 16, 81, 256, 625, 1296, ?
a) 4096
b) 2401
c) 1764
d) 3136
e) 6561

Directions (41-45): What will come in place of

guestion mark (?) in the following number series?

41.1,7, 49, 343, (?)
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a) 16807
b) 1227
c) 2058
d) 2401

e) None of these

42.13, 20, 39, 78, 145, (?)
a) 234

b) 244

c) 236

d) 248

e) None of these

43.12,35, 81,173,357, (?)
a) 725
b) 715
c) 726
d) 736

e) None of these

44. 3, 100, 297, 594, 991, (?)
a) 1489

b) 1479

c) 1478

d) 1498

e) None of these

45. 112, 119, 140, 175, 224, (?)
a) 277
b) 276
c) 287
d) 266

e) None of these
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Directions (46 -50): In the following number series
only one number is wrong. Find out the wrong

number.

46.18.3,20.6,16,22.9,13.7,2.2,11.4
a) 25.2
b) 18.3
c) 13.7
d) 22.9
e) 20.6

47.9,5,6,105, 23, 61, 183
a) 183

b) 10.5

c) 61

d)5

e)9

48. 188, 154, 140, 132 ,128, 126, 125
a) 125
b) 154
c) 132
d) 126
e) 188

49.2,4,11,37, 151,771, 4633
a) 11

b) 4633

c) 771

d) 151

e) 2

50. 391,394, 399, 411, 431,461, 503
a) 503
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b) 394
c) 399
d) 431
e) 391

Directions (51-55): What should come in place of the

question mark (?) in the following number series?

51. 150, 102,70, 46,26, ?
a) 16
b) 8
c) 10
d)2
e) 4

52.10, 14, 28, 52,134, ?
a) 302
b) 268
c) 300
d) 304
e) 208

53. 4500, 900, 90, 6, ?, 0.012
a) 0.3

b) 3

c) 3.33

d) 0.33

e) 3.3

54.24,11,10,14,27, ?
a) 66
b) 70.5
c) 68
d) 66.5
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e) 68.5

55.8,7, 12,33,128, ?
a) 528
b) 365
c) 653
d) 825
e) 635

Directions (56-60): What should come in place of the

guestion mark (?) in the following number series?

56.7,5,7,17, 63 2
a) 308
b) 302
c) 309
d) 409
e) 390

57.50,7?, 61, 89,154,280
a) 52
b) 51
c) 60
d) 62
e) 60

58.17,19, 25,37,7?,87
a) 47
b) 37
c) 57
d) 67
e) 75

59.11,14 ,19, 28, 43, ?

a) 55
b) 44
c) 77
d) 88
e) 66

60. 26 , 144, 590, 1164, ?
a) 1296
b) 1182
c) 2059
d) 1182
e) 1181

Direction ( 61-65) Find the wrong number in the

following series.

61. 40,,326, 2946 ,29418, 323607
1.326

2.40

3.2946

4.323607

5.29418

62.560, 1089, 1725, 2443, 3284, 4245
1.2443

2.1725

3.4245

4.3284

5.560

63. 3252, 3080 , 2958 , 2876 , 2826
1.3080
2.2876
3.2826
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4.3252
5.2958

64. 2442 ,1222 , 614,312,163, 90, 55.75

1.1222
2.312
3.90
4.614
5.163

65. 1250, 1322, 1452, 1674, 2024 , 2544

1.1322
2.1674
3.2544
4.2024
5.1250

Direction (66-70) Find the missing number in the

given series.

66.1953.125 781.25 3125 ? 20
1.48
2.49
3.50
451
5.52

67.81 87 162 504 1992 9990 ?
1.59903
2.59906
3.56895
4.59904

5.59861

68. 49 72 118 ? 394 762 1498
1.234
2.239
3.210
4.219
5.243

69. 142 143 156 193 272 417 ?
1.653
2.658
3.659
4.657
5.656

70. 118 122 158 206 356 536 7
1.956
2.953
3.928
4.965
5.963

71.2,8, 14,24, 34,48, ?

a. 66

b. 62

d. 64

72.1,2,3,2,4,5,4,5,7
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a.9 76. 138, 115, 92, 69, 46, ?
b.6 a. 9
c. 10 b. 18
d.7 c.21
d. 23

73.3,8,13,24,41,?

a. 65 77.4,2,8,16,128,7?
b. 75 a. 562
c. 70 b. 1018
d. 80 c. 2024
d. 2048

74.2,4, 4,8, 16, 16, 256,

a. 64 78. 186, 115, 71, 44, 27, ?
b. 36 a. 19
c. 180 b. 17
d. 32 c.13
d. 21
75.1,2,3,5,8,7?
a. 11 79. 128, 64, 32, 16, ?, 4
b. 13 a. 10
c. 15 b.8
d. 9 c.6
d. 12
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d. 27
80.1,1, 2,8, 64, ?, 65536
a. 1024 84.1,2,2,5,3,10,7?
b. 2556 a. 8
c. 4096 b.4
d. 1088 c.7
d. 11
81.1,2,4,8,16,32,7?
a. 48 85.4, -8, 14, -22,32,?
b. 56 a. -44
c. 64 b. 42
d. 70 c.-42
d. 44
82. 5, 50, 45, 450, 445, ?, 4445
a. 4450
Answer:
b. 4600
c. 4550 1.4
The series is 32+ 13 =22,42+ 26 = 42,
d. 4500 52 + 39= 64,62 +52 = 88
?7=72+65=114
83. 243, 5,81, 15, 27, 45, 9, ? 2.1
The series is
a.b
b. 15
c. 135
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4.1;

11 61 299 1189 The series is

X 6-5 X 5-6 X 4-7 X 3-8 160

80

120

300

1050

3.2;
The series is

215 19 163 63 127 5. 3;

-142 +122 -10? +82

The series is

il 5 8 15
l I l l |

+12-0  +1%1 +32-2 +42-3

6. 5;
The series is

T T T T T

+23 33 +43 +53 +63

7.3;

The series is

PR o T

+2+1 +2+1 =2+1 +2+1 +2+1

5.75

x7/2
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8.1;

The series is

fi ?ﬁ 625 1024 ?ZQF
rTT

3 Da 4 36

9. 4;

The series is

71 216 868 4345 26076

L TL_TL _TL T

x3+3 x4+4 x5+5 X6+6

10. 3;

The series is

144 1728 o736

L TL_TL T

+1x12 + 2x24 + 3x36 +4x48

11. e) 456
Solution:
8x05+05=45
45x1+1=55
55x2+2=13
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13x4+4=56
56 x 8 + 8 =456

12.¢) 215

Solution:

13.d) 131

Solution:
11+3'=11+3=14
14+3°=14+9=23
23+3°=23+27=50
50+3*=50+81=131

14. a) 169
Solution:

W3 4562169
4

L et
43 44" %

.o e

15. b) 53
Solution:
21+14=35
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35-5=30
30+14=44
44 —5=39
39 +14=53
16. a) 142
Solution:
~9 +1b 1 +12
A e o
+16 "'?—-b '1“3?'— A¥+12=459
/\/\/ B il
—] 20 g& 1 3 %
A3+49
@ 8&“‘(5% am'ﬂ”'{rlmj Lo L 11 n
17.b) 57
Solution:
G
-+ 9 +7;
23 >9 32 480 4 2
A A
\ ; / \ / 'f; 4 )
+_<} _-{' 9_ - o F
@‘ Bank Exams 1o &,a:i\,um
18. a) 237
Solution:

11+(1°+1)=11+3=13
13+(2°-1)=13+7=20

20+ (3°+1)=20+28=48
48+ (4°-1)=48+63=111
111+ (5° + 1) = 111 + 126 = 237
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19. e) 353

Solution:

20. ¢) 392
Solution:
6x05+05=35
35x1+1=45
45x2+2=11
11x4+4=48
48 x 8 + 8 =392

21. b) 5506
Solution:
6x2+4=16

16 x3-3=45
45x4+4=184
184 x5-5=917
917 x 6 - 6 = 5506

22.e) 146
Solution:
11+9=20
20+18=38
38+36=74
74 +72 =146

23.d) 145
Solution:

15+6=21

21+ 17 =38 (17 = 6+11)
38 + 27 = 65 (27 = 17+10)
65 + 36 = 101 (36 = 27 + 9)
101 + 44 = 145 (44 = 36 + 8)

24.¢) 46

Solution:

24 +2°=24+4=28
28-3"=28-9=19
19+4°=19+16=35
35-5°=35-25=10
10 +6°=10+36 = 46

25.a) 32
Solution:
14x1-8=6
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6x2-8=4
4x3-8=4
4x4-8=8
8x5-8=32

26.¢) 179

Solution:

14,25, 47,91, ?, 355
14x2-3=25

25x 2-3=47
47x2-3=91
91x2-3=179

27.a) 136
Solution:
11, 24, 44, 70, 101, ?

il ”(2 )
T i &
A g &
P / e
I 24 44

adan

28.d) 176
Solution:

18, 8, 6, 8, 24,?
18x0.5-1=8
8 x1-2=6
6x2-4=8
8x4-8=24
24 x8-16=176

@ BQ'\KE K AWM gTod JLA\ LCo

29. b) 50
Solution:
28, 32, 23, 39, 14, ?

+F 4=\
//——\1/ “\\/ y
A 2l 2% 39 I 4 2
U 2 '
-5 \—«/ 29+ |\
-9
= 50
@ Bonk Ex&m_;rodn/j , Cow
30. e) 4056
Solution:
5,12, 33, 136, 675, ?
5x2+2=12
12x3-3=33
33x4+4=136

g 136 x5-5=675
" 3144235 675 X 6 + 6 = 4056

31. ) 2,4, 12, 48, 240, ...

The pattern is: to arrive at a term, the previous term is

™\

by 1 for every term.

32.
4=2x(2+0)
12=4x(2+1)

48=12x (2+2)
240 = 48 x (2 + 3)

being multiplied by (n+1) where ‘n” keeps on increasing

= Next term =240 x (2 + 4) = 240 x 6 = 1440
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2.€)2,5,9,19,37, .....

The pattern is: every number is arrived at previous
number multiplied by 2 and then alternate addition and
subtraction by 1 i.e.

2

5=2x2+1

9=5x2-1

19=9x2+1

37=19x2-1

the next term 37x2+1 =75

33.b) 4,-8,16,-32, 64, ....
The pattern is: Every number is arrived at by multiplying
previous alternate number with ‘4’ as shown below:

4x4=16

-8x4=-32
16 x4 =64
-32 x4 =-128

Hence, ‘-128’ is the correct answer.

34.¢) 2,9, 28, 65,126, 216, 344.
The pattern in the series is that the series is triangular as

shown below:

12 18 24

In the triangular series, the difference between
consecutive terms is written below the numbers and
then, difference between consecutive differences is

written below & this process carries on until all the

difference become equal. In the figure above there was

an error & we have corrected it.

35. d) 10, 26, 74, 218, 654, 1946, 5834

The pattern is: to arrive at next term, the previous is
multiplied by 3 and subtracted by 4:

10

10x3-4=26

26x3-4=74

74 x3-4=218

218 x 3—4 =650 # 654

650 x 3—4 =1946

1946 x 3—4 =5834

Here, ‘654 was wrong.

36.d) The seriesis-1.1,-2.2,-4.4,-88,-17.6

37.e) The series is: + 117, + 12°, + 13%, + 14% + 15°

38. ) The series is: x5, x5, x5 ......

39. d) The series is: x1, x5, x9, x13, x17, x21

40. b) The series is: 1%, 2%, 3% 42, 5% 6, 7* (= 2401)

41.d.) 2401
Solution:
1x7=7
7X7=49

49 x 7 =343
343 x 7 =2401
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42.d) 248 154 - 16 = 140
Solution: 140 -8 = 132
13+12%4+3, 20+ 47+3, 30+6%+3, 78+8%43, 145+ 10%+3 132-4=128
128 -2 =126
43.a) 725 126 -1 =125
Solution:
difference x 2 49. d) 151
2x1+2=4
44. e) none 4x2+3=11
Solution: 11x3+4=37
+97,+197+297,+397,+497 37x4+5=153

153 x5+6=771
771x6+7=4633

991+497 = 1488

45. ) 287 50. b) 394
Solution: 391 +2 =393
+ 7x1, +7X3, +7X5, +7x7, +7x9 393+6=2399
399 + 12 = 441
L) oz 441+ 20 = 431
18.3 +2.3=20.6 8L )
20.6 - 4.6 = 16 461 +40 = 503
16 +6.9=229
22.9-92=137
13.7 +11.5= 25.2 51.b)8
252-138=114 Solution:
47.c¢) 61 150 102 70 46 26 ?
9x05+05=5 S N o
5x1+1=6 ‘48\_,“-3‘2-. 2 2{:_}20\/18
6x1.5+1.5=105 .16 mANEE VD 4 )
105%x2+2=23
23X 2.5+ 2.5 = 60 Then F=ab-lo=%
60 x 3 +3 =183
48. ¢) 188 52. d) 304
186 - 36 = 154 Solution:
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10x3-2=28
14 x4 -4=52
28x5-6=134
52 x 6- 8= 304

53.a) 0.3
Solution;

4500/5 =900
900/10 =90
90/15=6
6/20=10.3
0.3/25=10.012

54. d) 66.5

Solution:

24x (1/2)-1=11
11x (2/12)-1=10
10x (3/2) — 1= 14
14x (4/2) —1 =27
27 x (5/2) — 1 = 66.5

55. €) 635

Solution;

8x1-1=7
7x2-2=12
12x3-3=33
33x4-4=128
128 x5-5=635

56. c) 309
Solution:
7x1-2=5

5x2-3=7
7x3-4=17
17x4-5=63
63x5-6=309
57.a) 52
Solution:

50..50+(13+1) = 52
52+(23+1)=61.
61+(3%+1)=89
89+(43+1)=154
154 + (53+1) = 280

58. ¢) 57

Solution:

17+1x2=19
19+2x3=25
25+3x4=37
37+4x5=57
57+5x6=287

59. ) 66

Solution:
3....5..9...15..23
.2..4..6..8...
Answer 43+23= 66

60. b) 1182

Solution:

26 x6-12=144
144 x 4 + 14 =590
590 x 2 - 16 = 1164
1164 x 1+ 18 =1182
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61.2946

40 x 8+6=326

326 x 9+7=294

2946 x 10+8=29418
29418 x 11+9=323607

62.1725
the difference between numbers is +232 +252, +272,

63.3252
the difference between numbers is -(132+1), -(112+1), -
(92+1) , ~(72+1), -(5+1)

64. 90

24422 +1=1222
1222/2 +3=614
614/2 + 5 =312
312/2 +7 =163
163/2 +9=289.5
89.5/2 +11=55.75
69.658

65. 1250

the difference between numbers is +(33+3) , +(43+4)
 HEHE), +(646) , +(75+7),

+(848)

66.50
1953.125/2.5=781.25
781.25/2.5=312.5
312.5/2.5=125
125/2.5=50
50/2.5=20

67.59904
the difference between numbers is x 1+6 , x 2-12, X
3+18 ,x 4-24 x5+30, x 6-36

68.210
the difference between numbers is +23, +46 , +92 ,
+184 , +368 ,+736

the difference between numbers is +13+0, +23+5 +33+10, +43+15, +53+20 ,+63+25

70. 928

the difference between numbers is
+23-22

+33-32

+43-42

+53.52

+63-62

+73-72

71. (b): The sequence in the series is:
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2 8 14 24 34 438 62
LI JL L] -
+6 +6 +10 +10 +1

4 +14

The difference increases by 4 at alternate step.

72. (a): In this series three numbers from a set. The first two numbers of each set are in natural order and the third number
is the sum of first and second numbers. The first number of the next set begins with double the first number of the
previous set.

73. (c): The sequence in the series is (number + next number ) + addition of natural number increasing by 1 at each step,
after beginning from 2.

(24 +41) +5
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74. (d): There are two alternate series:

x2 x4 x 16
2 4 4 3 16 16 256 32
x2 x2 x2

Series | : 2,4,16,256 (next number is the square of precious numbers)
Series 11 : 4,8,16,32 (number is multiplied by 2 to get the next number)

75. (b): The numbers in the series are sum of two numbers preceding them.

1+2

345

(5+8)

76. (d): The numbers in the series are decreasing by 23.
77. (d): The number in the series is product of two numbers preceding it.

4 2 8

gy =

16 128 2048

{2x8)

(8x16)

(16x128)
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78. (b): The sequence in the series is that the number subtracted from its previous number gives the next number.

186 115 71 a4 27 17

g m—

aniadag |
115-71

(71 - 44)

(44-27)

79. (b): The numbers in the series are divided by 2 at each step.

80. (a): The sequence in the series is x1, x2, x4, X8, x16, xX64.

1 1 2 8 64 1024 65536
LI L L]
x1 x4 x8

x2 x16 x64

www.BankExamsToday.Com

Page 23



Number Series Workbook V-1

81. (c): The numbers in the series are double the previous number.
82. (a): The sequence in the series is x10,-5, which is repeated.

83. (c): There are two alternate series:

=3 +3 =3

243 5 81 rs 27 45 9 5
_ 4
x3 x3 x3

84. (b): There are two alternate series:

Series I: 1,2,3,4 (numbers are increasing in natural order)

Series I1: 2,5,10 (third number is product of previous two numbers)

85. (a) Alternative numbers are marked positive and negative, but the difference between their magnitude increases by 2
at each step.
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